Ballpark Cost of new profile?

1) Load Research Costs, describe $ per ERCOT spreadsheet.

2) Other Costs, describe $ per EDS submittal.

Cost Recovery Methods:

1) Market Uplift to CRs only: ERCOT would pay the requestor ($C). ERCOT would collect the cost ($C) by charging a fee to all CRs where,  FEE = $C / Annual MWH = $/MWH such that the total collected would equal $C. With the fee flowing through the QSE.

a. Pro / Opt-in entities do not have to pay for profile they do not use. Simple administration. Continues ERCOT financial relationships with QSE.

b. Con / CRs not using the profile also pay. Requires a new ERCOT fee. QSE has to keep totals by CRs if not already available.

2) Pay as you go: if the requestor in not a CR, as a non CR requestor subscribes to the profile the fee is reallocated as such FEE for n CR = $C / (n + 1) where n is the number of CRs using the profile if the requestor in not a CR. And the Fee if a CR is the requestor then the FEE = $C / n. Each time a CR is added the fee is recalculated and each prior CR using the profile is reimbursed accordingly per the current fee for n CRs. With a 2 year sunset on the fee and no fee after 2 years.

a. Pro / CR using the profile pay and not other CRs

b. Con / without a subscription period, population size could change from the initial sample.  ERCOT does not have a financial relationship with CRs or requestor.

3) TDU/Subscriber Pay: When a profile is approved the TDU reimburses the TDU costs incurred by the requestor. The TDU recovers the costs through regulatory filings. And all the subscribers of the profile reimburse the other costs of the requestor. The initial subscription period would be 150 days. The CRs that subscribe to use the profile will pay the fee. FEE = Other$C / Ncrs. A sunset period of 2 years.

a. Pro Simple administration for ERCOT, CRs and requestor

b. Con TDU has to administer cost for filings. ERCOT does not have a financial relationship with CRs or requestor.

